V' 0+

V' 0+

Ly'0+

9v'0+

8y'0+

149.84

0'Z =7 Wd 0G=p 15ndazid Auemopyaloid

Sy 0+

EV'o+

€0+

6€°0+

870+

€0+

ST'0+

ST'TST ¢L°0ST

¢T'TST 69°0ST

L0'TST 09°0ST

L6'0ST TS'0ST

€6'09T S¥'0ST

9¥'0ST
¢6'09T L¥'0ST

16°0ST 87°0ST

18°0ST 99°0ST

€8°05T ¥¥'0ST

8/°09T 0€°0ST

T.°0ST Ov'0ST

G9'0ST 0G'0ST

o 1~
™~
ﬂ%\l@ﬁu
3 1
o
o
1O
=1 0298
=
o
=
9
x
0005
00'Se
— o001
<
© 9
%mf5
1
o3 =~
o S
= 1 0076
B Q
=N
wﬂ_
T
o ﬁ
™
—
g 8¢
N Re
3
=
[e0]
= T 065y
&3
T
P 2T
o =+~
ﬂv. I
RS
\ﬂOA_.
|
< M
2%
m&
-3
~ B
wm 0.8y
o =
N o
=
o

©

Wi

A\
(2]
[ee]
o

&




